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Rosen, E. I. (2002).  The Globalization of the U.S. Apparel Industry: 
Making Sweatshops. University of California Press.
Please answer to the best of your knowledge the following essay question.  Use detail where appropriate.  Remember grammar, punctuation & spelling count.
a. What was GATT and how did it facilitate trade?  How did it differ from the Marshall Plan?(2 pts)
GATT is the General on Tariffs and Trade (Rosen, 2002, p. 14, par. 2). The treaty was created to encourage global trading by reducing tariffs. Providing incentive to countries by cutting tariffs as all members are treated equally in negotiations for trade agreements. After World War II, the United States backed this agreement because both Britain and the U.S. believed in simple economic ideas: that the best way for the economy to work well is through free markets and free trade (Rosen, 2002, p. 14, par. 3). Both the United States and Britain at the time both came to the agreement that this is beneficial to maintain world peace and economic prosperity. 
The Marshall Plan on the other hand was an initiative by the U.S. to financially aid western European countries post-war. The Marshall Plan, along with new ways of lending money internationally, was created to help Europe recover and to support European buying of American-made goods (Rosen, 2002, p. 31, par. 2). General on Tariffs and Trade mainly focused on trade liberalization and promoting economic development for the country. On the other hand, an example of this action was taken by the U.S. effort to help Western European countries recover economically after World War II. It aimed to rebuild their economies and prevent the spread of communism (Rosen, 2002, p. 31, par. 4). GATT focused on trade liberalization and the Marshall Plan aimed to rebuild economies and prevent the spread of communism in Europe through direct assistance.
b. On page 57, paragraph 2, Rosen states, “Trade between countries at the same level of development typically involves a relatively equal exchange of labor.  Trade between advanced industrial and underdeveloped poor countries, however, is likely to reproduced previous colonial economic relationships…”  What is meant by this statement?  Where have you learned about colonial economic relationships in class, in the text, or otherwise? Defend your answer. (2pts)
   
The statement suggests that when countries with similar levels of development trade with each other, they usually exchange things in a fair way. They share labor, resources, and goods more equally because their economies are similar. On the other hand, when more developed countries trade with underdeveloped countries, there are concerns that might resemble the unfair relationships seen during colonial times. Back then, powerful countries took advantage of less powerful ones, exploiting their resources and labor for their own gain. The main concern in modern trade between developed and less developed nations is the risk that the rich benefit at the expense of the poor country.

An example of colonial economic relationships that was learned in The Globalization of the U.S. Apparel Industry: Making Sweatshops is the trade between the U.S. and Japan due to its lack of natural resources. The trade of raw cotton materials has provided Japan’s textile industry to recover economically making it possible for the country to export large amounts of goods globally. Another example in the text, in the 1950s, the United States helped fund the creation and improvement of textile and clothing industries in Far East countries like Singapore, the Philippines, Pakistan, and India (Rosen, 2002, p. 47, par. 4). It was more beneficial for the U.S. since labor is far cheaper in these countries, they are clearly benefiting more than the far east countries. This shows unfair exploitation even if the U.S. had fair intentions because of the advantages that have been taken from low-wage laborers.  
c. Who originally controlled tariffs?  Who controlled tariffs in 1934?  Why was there this shift in control?  Defend your answer with support from the text. (2pts) 
Originally, the Congress of the government had control over tariffs in the United States. In 1934, there was a significant shift in control over tariffs with the passage of the Reciprocal Trade Agreements Act (RTA) (Rosen, 2002, p. 58, par. 2). This act granted the President of the United States the authority to negotiate and implement tariff agreements with other nations, subject to the approval of Congress. It was motivated to provide the executive branch with flexibility in conducting international trade negotiations and keeping economic diplomacy. The use of reciprocal trading helped the U.S. to reduce tariffs which benefits both countries trading to one another. 
The reasoning behind this change was to enable the U.S. to respond more efficiently to changing global economic conditions and to promote international trade relations during a period after the Great Depression. By granting President Franklin Delano Roosevelt the power to negotiate tariffs (Rosen, 2002, p. 58, par 2). It was believed that the U.S. could pursue more agile and responsive trade policies to benefit its economic interests. To continue the boost of international trades, the Congress felt that the President should be responsible to authorize these trades. In addition, this responsibility given to the President would help increase imports and exports within the United States.

This shift in control is supported by legislative documents, particularly the Reciprocal Trade Agreements Act of 1934 itself. The Act aimed to address the economic challenges of the time and is a key piece of legislation that marked a departure from the traditional congressional control over tariffs to a more executive approach in trade policy. When they were about to renew the RTA in 1949, it was clear that the changes would help some industries but hurt others. Labor unions and representatives of local businesses affected by imports turned to protest showing how it was harming their business (Rosen, 2002, p. 58, par. 6). By then, local manufacturers were affected by this shift as it creates rivalry between low-cost imports.
Rosen, E. I. (2002).  The Globalization of the U.S. Apparel Industry: 
Making Sweatshops. University of California Press. (cont.)
d. Rosen, on several occasions throughout chapter 4, discusses the defeat of the French at Dien Bien Phu.  Why?  Why is the defeat of Dien Bien Phu significant in American history?  Why is this important to Congressman who favored protectionism a trade policy? (2pts)
The Battle of Dien Bien Phu influenced how the U.S. dealt with other countries during the Cold War. When the French lost in Vietnam, it made the U.S. worry more about communism spreading. This concern led the U.S. to get heavily involved in the Vietnam War. Therefore, the necessity to control communism played a crucial role in securing the extension of the Reciprocal Trade Act. As discussions intensified about prolonging the Trade Agreements Act in 1954, the victory of communist forces over the French at Dien Bien Phu occurred (Rosen, 2002, p. 64, par. 4). The significance of this historical context became important to the United States government due to its prevention of communism spread throughout Asia. 
Some Congress members may have looked at what happened in Southeast Asia as part of global politics and financial matters. They thought communism in that area could harm the economic and political interests of the West. This could have affected the discussions about trade policies and protectionism during the Cold War. Congress started protecting American industries again and the switch from protecting the industries to trading with other countries happened because the United States took on new global roles. Becoming the leader of world capitalism and the main opponent of world communism (Rosen, 2002, p. 55, par. 3). The significance that this created was to protect local business and reduce negative impacts on trade. 
e. What was Kennedy’s Tripartite compromise?  How did this benefit the textile and apparel industry in the US? (2 pts)
The Tripartite Agreement in the 1960s was a deal between the U.S., Europe, and Japan about clothing and fabrics. The first part of the deal was that they agreed that Europe and Japan would limit the amount of clothes and fabrics they sell to the United States. These rules were supposed to be talked about and agreed upon with the countries sending these goods in the country (Rosen, 2002, p. 73, par 3). This helped U.S. clothing makers by making sure there was not too much competition from other countries, giving them time to adjust to changes. In addition, this also helps the textile trade between the nations and a stable trade market.

The second part of the deal was the Trade Expansion Act (TEA) which is the replacement of RTA. It showed the government's effort to protect local industries while also encouraging free trade (Rosen, 2002, p. 74, par. 2). The government’s commitment to find balance between protecting local businesses and reducing tariffs and quotas. This focuses on expanding trade opportunities within the country as well as protecting American industries over international industries. Therefore, it plays a pivotal role in U.S. trade policy with both the textile and apparel industry benefiting from this compromise. 
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